Final review- 3106

1. The difference between sales and cost of goods sold is called:
AL met income.
gross profit,
C. contribulion margin.
D finished goods inventory.

2. All else being equal, which of the following would med cayse the contribution margin o decrease?
A, An increase in total varable coss,

A decrease in sales volume:
A decrease inovariable costs per umie.

A decrense in the sales price per unit.

3. Bergman Inc. has the tollowing product informanon available:

Sales price $1Z per unit
YWarahle cosls ¥ 4 per unit
Fixed casts 515,600
Uitz zold 10,400

4. i im i the Bergman Inc. information above. Whet 1s the break-even paint in units?

1 P15, €O

= \Iqmw1+5

C. 975
D. 2,400 18 -4
5. Refer to the Bergman Inc. information above, How many units seeds to be sold in order to eam a
target profit of 5 150,0007 m
25,477 OO+ #/50, %
R} 20,700 /5, 5 -..:.:)C}, qmmu'#:-.
C. 10,350 Tp—— E
D. 18,750 ,ch 4

. Tecker Coop, has (he following product information;

Bales price F12 per umit
Contribation margin ratic 4
Fixed costs B45 (W10

Reder to lhﬂSTuckcr Corp. information above, What is the break-even point in sales dollars?
A. 45,000
(B 123500
€ $1.350,000 b 45,000 - P J g, &5
--____.____,__-4-

D. § 9375

e 4070



7. A local science museum normally sells nekets (o 118 musenm for 36 each, The daily maximum
capacity of the museum is S visitors. AL the maximum capacity, fixed costs are 33 per visilor
and variable costs arve .50 per visitor, A Jocal schoal group has approached the museum wishing
to purchase 25 special passes at a cost of $2.00 cach. Assuming the museum has excess capacity,
ifthe speciel arder were accapted, net income would:

increase by 537.50. 5
B. decrease by $87.50. & & - $ .50 = P). 50
. increase by $50.00,

D. decrease by $37.50. R g

——————
£37.50
8. Henderson Manufaciuring Inc. manufectures electiic scooters. The company cuvently makes all of
the electionic components Tor the scooter iself. When 6,000 motors are manufisciured cach vear,

the motor cosis per unit are as follows: e
Direct maleriils h %
Direet labar 4
Variable averhead 5
Fized overhead =

Plymaouth Ine. has offered o s¢ll Henderson 6,000 motors for $15 per unit. If Henderson accepts the
offer, ¥4 of the fized overhead cumrently allocated to the motors could be avoided.

0. Refer o the Henderson Manufacturmg Inc, information above. What are the relevant costs per
if of Henderson manufactering the motors themseves?

$16.80 “Direcy, Made nCa\S ¢=§.

B, §15.20

C. $20.00 N
D, $12.00 Joafiooke Overhece 4

P
AcodabQ Frxed (0
10 Jooyner Prodoots makes cedar garden benches in three sizes: small, medinm, and large. Joymerells

the hienches to local refuilers, The benches can bse sold with or without assembly. The following
information is available for each table:

23

Small Modium Larpe

Tnitial sales price 591 150 %250
Initial cost a0 45 (il
=ales price after assembly (B4 150 260
Cost of assembly 13 20 25
Mumiber 2old per month 120 350 156
Refer to the Joyner Products mformation above. Which benchies) should be assembled betore they are L
old 1o relailers? - @ Lonud = M
Small and medium 1ok rgnie D0 an 10
B. Medium and large
C. Small and large « menia CosT (/15D (D @9,
I Sl rsltim il ok = —



LI, A lecal chain department store grants each of its store managers Lhe anthority to make buyin
decisions for their stores. Granting managers this kind of authority is found m which type of
g Ealion?

A, Segmented

B. Centralized

~. Desepmented
Decentralized

12, Which of the following is an gdvantage of decentralization?
A It allvws wp-level manggement who nommally work at corporate headquaniers o pet
involved with the day-to-day decisions tial need o be made at lower levels,
B. It allows managers o focos on their own area of respansibility rather than what is best for
o, the company as a whole.
It allowes decizions to be made in a more imely manner.
D. It requires very little as far as manager training cosis.

13. Which type of manager would be allowed to decide whether or not new manufactiring equipment
should be purchased?
A, Production manager
B. Cost center mannger
L. Profit center manager
Investment cenieT manager

4. Which of the following 18 the correet fommila to compuite residual income?
A Avemgs operating assets - Net operafing income
B, Avemge operating sssets - (Net operating ineome = Minimum required rate of returmn)
L. Net operating income x Minimum required rate of return
). ~Met operating income - { Average operating assels » Minimum required rate of returmn)

15. Which of the following is not one of the perspectives that 15 usually examined under the balanced

seorecard approach?
A. Learning and growth perspective
B Imternal business perspechive

C_J Creditor perspective
0. Customer pergpective

16, Determinmg the market share for a company’s product would be & measure of performance under
which perspective of the balanced scorecard?
: Internal buginess
H. Costomer
C, Finanzial
D). Learming and grovwth

17, Increasing information sysiems capabilitics would be a critical suceess factor found in which
perspective of the balaneed seorecard?
AL Internal business
B. Customer
L. Financaal

0. )Learning and prowth



18, Which of the following is generally nor ane of the elassifications of quality cosis?
A Appraisal (detection) cosls
. Prevention costs
Internal control costs
. External failore costs

19, CLR Inc, isa clothing manufacturer, Recently, mﬂn@m: 2,000 shirts.
Puring the production process, some of the shirts did not have the required number of buttons
sewed on. TLR has decided to rework the shirts to add the buitons, These rework costs would

1 likelv be classified as which type of quality cost? -
Internal faillure costs
RB. Appraisal (detection) cnsis
. Prevenbion costs
[, Extermal fatlure costs

20, Which of the following statements regarding budgets is frue?
M. They rarely use estimales.
B. They should not be used for performance evalustions.

L. They should focus on past performance.
@Th:}- will likely reguire the input of more than one manager,

21. Which of the following is mor @ consideration in the preparation of a sales budget or sales
forecast?
A_ Cieneral economic rends,

Anticipated markefing or advertising plans,
Issuance of the curment year’s financial statements.

Anticipated price changes in both purchasing eosts and sales prices.

22, In 2007, Truman Products sold 900,000 units at §9 cach. Sales volume is expocted e increase by
10 percent in 2008 while the price of cach unit is expected o decrease by 15 percent, The

expected sales revenue for 2008 is:
A 8761500 000 * 10% = 990,00

$1,336,500 =
§7,573.500 + @x 85% o

[3. $6,885,000 b 9,513,500

23 Which of the following budgets would probahly aet be prepared using information provided by

the production budget?

A, I[nrect matenals budpet
B. Dhrect labos

Manufacturing overhead budget
D, ) Sales budgel

24, Porcelain Intertors sells a vanery of porcelain products including porcelain sinks. AL December
11, the company had 200 sinks in igveptory. The compamy s policy 18 10 maintiin a sink
inventory cqual to 3% of next month's sales. The company expects the following salss activity

for the first quarter of the year:

January 1,500 smks

]




February 2,000 sinks
March 2,300 sinks

What is the projected production for Fg 7 o, 000
A, 2115 g_ﬂﬁ&:r \ DX pC. A0 115
g T:EE 9,300 % Shypolan@ ?UQ\ ( 100)
1 ;

D. 2215  9,00%5% -Dalend J Oi5

25. A budget that dudgets costs for the actual number of units produced is called a;
A, master badget.

B. sumumary cazh budgel.
C. sibc budget.
([ Mexible budget.

26.Carson Products Ine. manufactures LEDs (light emitting diodes) for use in vehicles. At September 30,

the company had 5,000 LED ypiis in i lory, The company’s policy is to maintain a LED
cnding inventory equal to 25% of next moath*s sales. In addition, each LED manufactred
requires 2 minutes of assemply and inspecting time at o cost of $.30 per minute,
The company expects the following sales activity for the fourth gesarter of the year: # 80
. 90, =
October 90,000 units @ 45,000 ¥ Iinin
Movember 1100, (00D wits
December B0, 000 vmits '5 Sgrﬂ:ﬂ
What i3 the projected direct lnbor cost for November?
Ao BT2,000 OO0
B, $63,000 N avender 100,
{Ej:m'ﬂm & BF Dess 40 4 g{jifm) mﬂ {&Jlﬂx}
57 0040
-"BL (95,000 5% % /00, 600
@ G5,000
27, Which of the following evenls will cause a company’s carrent Tatio to decrease?
a.  The sale of inventory for cash. AC &
b. The sale of inventory for credil {sccounts recemvable), e
Paying off accounts pavabie with cash, oy g

Paying off long-ferm debt with cash,

28, Which staterment is true concerning pains and losses?
a. (aims and losses are reported nn the Ralance Shest in the asset and liability seelions,
=~ Tespoctively,
{Fains and losses are special rypes of revenuss and expenses that are reported on the
Inenimie Stafement

€. The amounts of gains and losses are included in the calculations of the gross profit ratio,
d. Gaing and losses are reported only on o multi-step income statement.



10, Denton Stores, Ine. is concerned sbout its profitability for the current year, since its earnings have
dropped 1084 since lagt year. Which of the following is the least useful cnmparison o evalsating
the drop in Denton Store's profit margin?

a. Comparison with the industry average for the current year.

§,) Comparison with its current ratio for the current year

¢. Comparison with the profit margins for its major competitors for the current year,
4. Comparison with its profil margins for the past fve years.

41. A hank laaned $62 million 1o Allison Comaoration to finance the constriction of a new
distribution warehouse. In which section of Allisen’s Statement of Cash Flows would you be able
tn determing whether the company repaid any portion of the debt dunng the year?

a  Operating Activitics
b, Inwesting Achiwifies
Finnneing Activities

. Profit Activitizs

MNaorihern Shoes

Narcthern Shoes reported the following items on its Staement of Cash Flows for the current year:

Ned eash inflows from operiting activitics 5 0,000
Nel cash outflows from investing activities {20000}
Met eash outflows from finsneing setivities {40,000}
Cash balance at the beginming of the year £ 30000

47 Refer to Morthern Shoes, What was the amount of their net increage or docrease in the cath
anec for the cuent year? =

$ 10,000 increase

b, § 30000 increase

¢ ¥ 40,000 increase

d, $ 70,000 increase

43, Refer to Northern Shoes. What was their cash balance at the end of the current yigar?
a. § 10,000
B, 5 30000
(&6 40,000
d. § 20,004

44, Which of the following items will be found in a corporate annual report?
a. Company Budgets
@Num to the Financial Statemenis
e Selzcted financial data from competitor companics
d. Managements ststcment thal the auditors are responsible for the financial statements,

46 Upon review of Bart's Statement of Cash Flows, the tollowing was noted:
{Cash fews from operating activitics £15,000
Cish flows from financing activities {60,000}
Cash flows from investing activities 20,000



‘om this information, the moat likely cxplanation is that Bart is
wsing cash from operations and selling long-term assets to pay back debt.
using cash from operations and borrowing to purchase long-term assets,
G using s profils o expand growih.
d. using cash from investors o provide for operations

47, Dawson Corp, repored the following information for 2000 and 20010,

Accounls receivable, December 31, 2009 £ 67,000
Accounts receivable, December 31, 2010 63,000 QL@?‘E 0 f§, @55. r
Sales {all on eredit) - 2010 745,000 —_——
How much cash was collected from customers during 20107 (Falab @ f%*‘_:
a. 5741000

§ 746,000
4 $753,000

. $745.000 4G5 ~Lobros
S

48,  Which of the following i mer a requirement of Sarbancs-Caley? l’pﬂ, 000 5F
a,  Adnual report must inchude an internal control report
b, Extemal awditors can no longer provide humin resource services
¢.  External amditors can no looger provide brokerage services
Musn establish an internal control sysiem that guaraniees financial sccuracy

449 Which intermal control procedure 15 followed when management authorizes the purchasing
department (o order zoods and services for the company?
2. Segregation of duties
b. Safeguarding of aszets and records
. Independent veniBcations
Proper authonzations

The following set of items descrites activities completed by o company in purchasing and paying
Jor mevehandive, For each activity, identify whether or not the gerivity adheres fo or violales
sotnd internal control procedires.

51 Refér to Internal Control — Porchasing & Paying. Although the department supervisor can
indicate n preferred supplier or vendor on purchase requisitions, the purchasing department lias
the responaibility for making the final decision on a vendor,

Adheres to sound internal control procedures
b, Wiolstes sound internsl control procedurss
c. Meither strengthens nor violates indernal control

52.  Which of the following is frue regarding manageral accounting?
(8. It often emphasizes sepments rather than the organization as a whole.
. It aften must follow established rules called generally accepted accounting
principles.
c. Its primary focus is on providing information to external users,
. Tuis Jess flexible than financial accounting,



53.

6.

g

58,

Which of the fellowing would most likely be classified as indirect materials?
a. Wood used to build a customized bookshelf

@ Lubricants used on factory machinery

c. Supplies used by the administrative employees
d, Packing pellets used for shipping products to customers

Which of the following decreases the wark-in-process account?
1, Raw materials used

;..:rust of goods manufactured

¢ Dircet labar

d. Manufacturing overhead

ér)ndw;t costs that transfer inte fimished goods inventory are called:

cost of goods manufactured.
b. cost of poods sold,
g. period costs.
d. raw matenals used.

Which of the following siatements is true regarding activity-based costing [ABC)T

a. It is based on the concept that a single cost driver can dnve all overhead costs.
h,) Tt is hased on the concept that activities drive overhead costs,

. If is based on the concept that unit-level costs drive all averhead costs.

d. It is based on the concept that either the number of direct labor or machine bours

incurred drives all overhead costs.

Costs associated with factory msurance, maintenance, remt, property taxes, and other
similar items arc typically included in manufacturing overhead and assignad o products:
a, primarily based on whatever technique is easiest

sed on a related cost driver that czn be identificd and measured
¢, il not treated as a period cost
d. based on the relative sales revenue generated by the product

NARRBEGIM: Michaels Manufactunng

Michael's Manufacturing, Inc.

Michael's Manufacturing, Inc: has the following information available for the month of
Tuly:

Begimning, Ending
Raw matcrials inventory 50,004 £ 62,000
Work-in-process inventory R 55,000
Fimished goods mvenlory 24,000 35,000
Raw materials purchased 120,000

Direct labar costs 00, (000



50,

.

5.

.

67.

COrverhead costs 45,000

Refer to the Michael's Manufacturing, Ine, mformation above, Raw materials used for

July is: }-J\,L.:._:}Qﬂﬂ NG
. $112.000 . E} cﬂ‘-}
é)mm,fm 00 WL\ haknates Yz 108,
¢ $120,000 (0000 4 Comp@s | Osado
d, 3132 000
(89, a0 i kT
Refar to the Michael's Manufactuning, Ine, mformation aba stti‘:ndfg.:&dx
manufactured for Tuly is: (Ahijends 20
a. S188.000 mm o ?EI
5250000 jGNES
$238,000 l‘:’f‘ n:cu s ‘Gm*ﬂ%!&&;rﬂcbi
4. $213.000 obe. | 7l
-’l- F\%,;?Lﬂ e JE}\J‘OL)G
VR T ) = —
NARRBEGIN: Aronzon & Assoc, LLP = fB' E
Aronson & Associates LLP £6,000

Aronson & Associates LLP, an accounting (irm, assigns overbead (o elicnts based on
direct labor hours. The following information is available for the month of March:

Estimated direct labor hours 4,000 hours
Estimated overhead costs SR.000
Actual direct labor hours 4,200 hours
Actual overhead costs $3,19H)
Refer to the Aronson & Associates LLP information above. The predetermimed overhead
rate for the month of March is:
a. $2.00 per direct Iabor hour $9,000  _ 4:.;}’?
b, § .50 perdirect lahor hour ‘7|| (ﬂjh S hr
€. 51.93 per direct labor hour ’

d. 51.90 per direct labor lour

Refer to the Aronson & Associates LLP information sbove. The amount of applie
averhead for March will be:

L 57 .+ 400

(B $8,400 4 O ¥ z;‘fmhri.

c. ha.610
d. $E,000

Refer to the Aronson & Associstes LLP information above, By how much was overhead
over= or underapplied for the month of March?
10 averapplied

b, :?gﬂgw“dmpp]iﬁdm B % 400 Vs 7"-"8 FC?O



